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STATISTICS & PROBABILITY WORK SHEET  
 

 Arithmetic Mean = 
Sum of all observations

Number of observations
 

 Mode is the value of the data which occurs Maximum number of 
times.  
 
Median is the middle most value of the given data  
 
To find the median for the given data,  
 
i. Arrange the data in ascending or descending order.  
 

ii. If the number of terms (n) is odd, then 
1

2

th
n  

 
 

term is the median.  

iii. If the number of terms (n) is even, then average of 
2

th
n 

 
 

and 1
2

th
n 
 

 

terms is the median. 
 

 mode   3 Median – 2 Mean  
 

 A distribution having only one mode is called unimodal. 
 

 A distribution having two modes is called bimodal.  
 

 A distribution having Three modes is called Trimodal. 
 

 A distribution having more than three modes is called Multimodal. 
 

 Range = L – S (L – Largest value, S – Smallest value)  
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 Coefficient or range = ;
L S

L S




 Variance 

 
2

2 1

n

i

i

x x

n
 






 

 Standard deviation 
 

2

ix x

n






 

 Standard deviation (ungrouped data) 
 

  i. Direct method  
22

i ix x

n n


 
  

 

     

  ii. Mean method 
2

id

n
 

  

  iii. Assumed mean method 
22

i id d

n n


 
  

 

   

  iv. Step deviation method 
22

i id d
c

n n


 
   

 

   

 

 standard deviation of first n natural numbers 
2 1

12

n



  

 Standard deviation (grouped data)  

i. Mean method  
2

i if d

N
 

    

ii. Assumed mean method 
22

i i i if d f d

N N


 
  

 

   

iii. Step deviation method 
22

i i i if d f d
C

N N


 
   

 

  coefficient of 

variation C.V 100%
x


  .  

 

 If the C.V. value is less, then the observations of corresponding data 
are consistent.  

 If the C.V. value is more then the observations of corresponding are 
inconsistent  

 

Probability:  

 In a random experiment, the set of all outcomes are known but exact 
outcome is not known.  
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 The set of all possible outcomes is called sample space. 
 A, B are said to be mutually exclusive events if A B =   

  Probability of event E is 
( )

( )
( )

n E
P E

n S
  

 i. The probability of sure event is 1 and the probability of  impossible  
     event is 0.  
 ii. 0 ≤ P (E) ≤ 1;    

 iii. P  E  = 1 – P (E)  

 
 If A and B are mutually exclusive events then P(A B) = P(A) + P (B). 
 P(A B) = P(A) + P (B) – P (A B), for any two events A, B.  

i.  P A B = P (only A) = P (A) – P (A B) 

ii. P( A B) = P (only B) = P (B) – P (A B)  
iii. P (A B C) = P (A) + P (B) + P (C) – P (A  B) – P (B  C) – 

P(C A) + P(A B C)  
 

PROBABILITY & STATISTICS Work Sheet  
 

1. The Mean of 16 numbers is 54. If each number is divided by 9 what 
will be the new Mean 
16 vz;fspd; $l;Lr;ruhrhp 54. xt;nthU vz;Zk; 9 My; tFg;gl;lhy; 
fpilf;Fk; Gjpa $l;Lr; ruhrhp?  
a. 6  b. 54   c. 16/9  d. 144 
 

2. The Mean of 20 numbers is 59. If 3 is added to each number. What will 
be the new Mean? 
20 vz;fspd; $l;Lr;ruhrhp 59. xt;nthU vz;Zld; 3 I $l;Lk; NghJ 
fpilf;Fk; Gjpa $l;Lr; ruhrhp  
a. 56   b. 62   c. 14.5  d. 177 
 

3. Find the median of the data 28, 7, 15, 3, 14, 18, 46, 59, 1, 2, 9, 21 
28, 7, 15, 3, 14, 18, 46, 59, 1, 2, 9, 21 vd;w tptuq;fSf;F ,il epiy 
fhz;f.  
a. 13.5  b. 14.5  c. 14   d. 15.5 
 

4. A cricket player has taken the runs 13, 28, 61, 70, 4, 11, 33, 0, 71, 92 find 
the median. 
xU kl;ilg;ge;J tPuh; vLj;j Xl;lq;fs; KiwNa> 13, 28, 61, 70, 4, 11, 
33, 0, 71, 92 vdpy; ,ilepiy fhz;f.  
a. 28.5  b. 30   c. 29.5  d. 30.5 
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5. Find the mode of the following data.  

2, 2, 2, 3, 3, 4, 5, 5, 5, 6, 6, 8 
gpd;tUk; tptuq;fspd; KfL  
2, 2, 2, 3, 3, 4, 5, 5, 5, 6, 6, 8 
a. 2, 3   b. 2   c. 5   d. 2, 5 
 

6. The range of the first 20 natural numbers is  
Kjy; 20 ,ay; vz;fspd; tPr;R 
a. 18   b. 19   c. 20   d. 21 
 

7. If the standard deviation of a data is 4.5 and each value of the data 
divided by 5, the find new standard deviation. 
xU tptuj;jpd; jpl;l tpyf;fk; 4.5. mjd; xt;nthU kjpg;GlDk; 5 
vd;w vz;zhy; tFf;fg;gLk; NghJ fpilf;Fk; Gjpa jpl;l tpyf;fk;?  
a. 22.5  b. 0.9   c. 1   d. 9.5 
 

8. Find the median of the first 7 prime numbers. 
Kjy; 7 gfh vz;fspd; ,ilepiy fhz;f. 
a. 5  b. 6  c. 7  d. 8 
 

9. Find the mode of the following data 4, 6, 8, 10, 12, 14 
gpd;tUk; tptuq;fSf;F KfL fhz;. 4, 6, 8, 10, 12, 14 
a. 6  b. 9  c. no mode  d. none of these 
 

10. The median of first 6 odd natural numbers is 
Kjy; 6 xw;iw gil vz;fspd; ,ilepiy 
a. 7  b. 6  c. 8  d. 14 
 

11. Find the range & co-efficient range 22, 24, 38, 39, 43, 45, 56 
tptuq;fSf;F tPr;R kw;Wk; tPr;Rf;nfO fhz;f. 22, 24, 38, 39, 43, 45, 56 
a. 34, 0.32  b. 32, 0.36  c. 38, 0.436  d. 34, 0.436 
 

12. If the variance is 0.49. Then the standard deviation is 
xU tptuj;jpd; tpyf;fth;f;f ruhrhp 0.49 vdpy; mjd; jpl;l tpyf;fk;  
a. 7  b. 0.245  c. 24.5  d. 0.7  

 
13. The mean of a data is 25.6 and its co-efficient variation is 18.75. Find 

the standard deviation. 
tptuj;jpd; $l;Lr;ruhrhp 25.6. mjd; khWghl;Lf;nfO 18.75 vdpy;> mjd; 
jpl;ltpyf;fk;. 
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a. 3.8   b. 2.8   c. 4.8   d. 5.8  
 
14. What mode of these data? 

60, 40, 85, 45, 80, 80, 55, 50, 60 
a. Unimodal b. Bimodal  c. Trimodal  d. Multimodal 
,e;j tptuq;fspy; cs;s KfL vd;d?  
60, 40, 85, 45, 80, 80, 55, 50, 60 
a. xU KfL b. ,U KfL  c. Kk;KfL  d. gd;KfL  

 
15. The range of the data 7,7,7,7,…7 

7,7,7,7,…7 vd;w tptuj;jpd; tPr;R  
a. 7  b. 3.5   c. 1  d. 0 

 
16. An integer is chosen from the first 20 natural numbers. What is the     

probability that is a prime number? 
Kjy; 20 KOf;fspy; ,Ue;J xU vz; Njh;e;njLf;f me;j vz; gfh 
vz;zhf ,Ug;gjw;fhd epfo;jfT?  

     a. 
4

5
   b. 

8

19
   c. 

2

5
   d. 

3

5
 

 
17. From a well shuffled pack of 52 playing cards, one card is drawn at 

random. Find the probability of getting a diamond 10? 
52 rPl;Lfs; nfhz;l xU rPl;Lfl;by; ,Ue;J rktha;g;G Kiwapy; xU 
rPl;L vLf;f me;j rPl;L lakz;l; 10 Mf ,Uf;f epfo;jfT  

    a. 
1

26
   b. 

1

13
   c. 

1

52
   d. 

4

13
 

 
18. What is the probability that a leap year selected at random will 

contain 53 Saturdays 
xU nel;lhz;by; 53 rdpf;fpoikfs; tu epfo;jfT  

 a. 
3

7
   b. 

1

7
   c. 

2

7
   d. 

4

7
 

 
19. What is the probability of drawing either a king or a queen in a single 

draw from a well shuffled pack of 52 cards? 
52 rPl;Lfs; nfhz;l xU rPl;Lf;fl;bypUe;J xU rPl;L vLf;f> me;j rPl;L 
uh[h (my;yJ) uhzpahf ,Ug;gjw;fhd epfo;fjT  

a. 
4

52
   b. 

4

13
  c. 

4

26
   d. 

2

13
 

 
20. The probability that it will rain on a particular day is 0.76. What is the 

probability that it will not rain on that day?  
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xU Fwpg;gpl;l ehspy; kio tUtjw;fhd epfo;jfT 0.76 me;ehspy; 
kio tuhky; ,Ug;gjw;fhd epfo;jfT?  
a. 0.26  b. 0.38  c. 0.24  d. 0.19  
 

21. Find the mean, median, standard deviation and variance of the first 20 
natural numbers. 
Kjy; 20 ,ay; vz;fspd; $l;L ruhrhp> ,ilepiy> jpl;ltpyf;fk;> 
tpyf;fth;f;f ruhrhp fhz;f.  
a. 10, 5.76, 10.5, 33.25   b. 10.5, 5.76, 33.25, 10 
c. 10.5, 10.5, 5.76, 33.25   d. 33.25, 10, 10.5, 5.76 

 Solution: 
  Let 1, 2, 3, …, 20 be the first 20 natural numbers. 

 Sum of the 1st 20 natural numbers = 
20(21)

2
 = 10 21  

  Mean = 
10(21)

20
 = 10.5  

 Here, n = 20 (which is even) 

  Median = 
1

1
2 2 2

th th
n n

term term
     

     
     

 

       = 
1 20 20

1
2 2 2

th th

term term
     

     
     

 

                =  
1

10 11
2

  = 10.5 

Standard deviation of first n natural numbers,  

  = 
2 1

12

n 
 = 

220 1

12


 = 5.76 

   Variance, 2  = 
2 1

12

n 
 = 

220 1

12


 = 33.25 

 
22. Find the standard deviation of the following data. (approximately) 

7, 4, 8, 10, 11 
gpd;tUk; tptuq;fSf;F jpl;ltpyf;fk; fhz;f.  7, 4, 8, 10, 11 
a. 2.35  b. 2.25  c. 2.45  d. 2.55 

 Solution: 
   

ix  2

ix  

7 
4 
8 

10 

49 
16 
64 
100 
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11 121 

ix  = 40 2

ix  = 350 

  Standard deviation,   = 
22

i ix x

n n

 
   
 

   

               =  
2

350 40

5 5

 
  
 

= 6  = 2.45 (approx.) 

 
23. Two coins are tossed together. What is Probability of getting at most 

one head? 
,U ehzaq;fs; xNu Neuj;jpy; Rz;lg;gLk; NghJ mjpfgl;rk; xUjiy 
fpilf;f epfo;jfT  

  a. 
3

8
    b. 

1

4
   c. 

3

4
   d. 

1

8  
 Solution: 
  Sample space, S = {HH, TT, TH, HT} 
    n(S) = 4 

Let A be the event of getting at most one head. 
    A = {TT, HT, TH} 

                 n(A) = 3 

         P(A) = 
( )

( )

n A

n S
 = 

3

4
 

 
24. Three rotten fruits are mixed with 12 good ones. One fruit is chosen at 

random. What is the Probability of choosing a good fruit? 
12 ey;y goq;fSld; 3 nfl;l goq;fs; fye;Jtpl;ld. mtw;wpypUe;J 
xU gok; rktha;g;G Kiwapy; Njh;e;njLf;fg;gLk; NghJ mJ ey;y 
gokhf ,Ug;gjw;fhd epfo;jfT 

 a. 
3

5
    b. 

4

5
   c. 

1

4
   d. 

1

5  
     Solution: 
 Three rotten fruits are mixed with 12 good ones. 
        n(S) = 12 + 3 = 15 

Let A be the event of choosing a good fruit. 
n(A) = 12  

       P(A) = 
( )

( )

n A

n S
 = 

12

15
 = 

4

5
 

 
25. A letter is chosen at random from the letters of the word 

“ENTERTAINMENT”. Find the probability that the chosen letter is 
vowel or T (repetition of letters is allowed) 
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 “ENTERTAINMENT” vd;w nrhy;ypy; cs;s vOj;Jf;fspy; ,Ue;J 
rktha;g;G Kiwapy; xU vOj;ij Njh;T nra;a> mt;ntOj;J Mq;fpy 
caph; vOj;jhfNth my;yJ T MfNth ,Ug;gjw;fhd epfo;jfT 
(vOj;Jf;fs; jpUk;g jpUk;g tuyhk;). 

 a. 
8

13
    b. 

7

13
   c. 

5

13
   d. 

3

13
 

 Solution: 
  Given word: “ENTERTAINMENT” 
  n(S) = 13 
 Let A and B are the event of getting vowel and letter T. 
       n(A) = 5 and n(B) = 3 
    P( A B ) = P(A) + P(B) 

          = 
5

13
 + 

3

13
 = 

8

13
   

 
26. Three coins are tossed simultaneously. Find the probability of getting. 
 (i) At least one head 
 (ii) Exactly two tails  

%d;W ehzaq;fs; xNu Neuj;jpy; Rz;lg;gLk; NghJ gpd;tUdtw;wpw;F 
epfo;jfT fhz;f.  
i. Fiwe;jJ xU jiy tu  
ii. rhpahf ,U G+f;fs; tu 

 a. 
7

8
, 

3

8
   b. 

5

8
, 

1

2
   c. 

3

8
, 

1

4
  d. 

3

8
, 

7

8  
 Solution: 
  Three coins are tossed simultaneously. 
 Sample space S = {HHH, TTT, THT, TTH, HHT, HTH, THH, HTT} 
   n(S) = 8 

(i) P (At least one head) 
    A = {HHH, THT, TTH, HHT, HTH, THH, HTT} 

           n(A) = 7 

                 P(A) = 
7

8
 

(ii) P (Exactly two tails) 
    B = {THT, TTH, HTT} 

             n(B) = 3 

            P(B) = 
3

8
 

 
27. Two dice are rolled together find the probability of getting a doublet 

or sum of faces as 4 
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,U gfilfs; cUl;lg;gLk; NghJ Kf vz;fs; xNu khjphp tu 
my;yJ Kf vz;fspd; $Ljy; 4 tu epfo;jfT 

 a. 
6

36
    b. 

1

36
   c. 

4

9
   d. 

2

9  
 Solution: 
 When two dice are rolled together then, n(S) = 36 
 Let A be the event of getting a doublet and 
 B be the event of getting sum of faces as 4. 

 A = {(1, 1), (2, 2), …, (6, 6)}     
           B = {(1, 3), (2, 2), (3, 1)}          
           and A B  = {(2, 2)}           

P(A) = 
6

36
; P(B) = 

3

36
; P ( A B ) = 

1

36
 

Now, ( )P A B  = ( ) ( ) ( )P A P B P A B    

       = 
6

36
 + 

3

36
 - 

1

36
 = 

2

9
 

 
28. Two unbiased dice are rolled once find the probability of getting the 

sum as a prime numbers.  
,U gfilfs; cUl;lg;gLk;NghJ mjd; Kf vz;fspd; $Ljy; xU 
gfh vz;zhf ,Ug;gjw;fhd epfo;jfT?  

a. 
5

36
   b. 

5

12
   c. 

7

36
  d. 

11

12
 

 Solution: 
  Two dice are rolled then, n(S) = 36 
 Let A be the event of getting the sum as a prime number, 
  A = {(1, 1), (1, 2), (2, 3), (1, 4), (1, 6), (4, 3), (5, 6)} 

    P(A) = 
( )

( )

n A

n S
 = 

7

36
 

 
29. A box contains 4 green, 5 blue and 3 Red balls A ball is drawn at 

random. Find the probability that the selected ball is not green in 
colour.  
xU ngl;bapy; 4 gr;ir> 5 ePyk; kw;Wk; 3 rptg;G epwg;ge;Jfs; cs;sd. 
rktha;g;G xU ge;ij Njh;e;njLf;f mg;ge;J gr;irepwkhf ,y;yhky; 
,Uf;f epfo;jfT?  

a. 
1

3
   b. 

2

3
   c. 

3

4
   d. 

1

2
 

    Solution: 
  A box contains 4 green, 5 blue and 3 red balls. 

n(S) = 4 + 5 + 3 = 12 

 Probability that the selected ball is not green = 
8

12
 = 

2

3
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30. The probability that a non leap year will have 53 Sundays and 53 

Monday is  
xU rhjhuz Mz;by; 53 Qhapw;Wf;fpoikfs; kw;Wk; 53 
jpq;fl;fpoikfs; fpilg;gjw;fhd epfo;jfT fhz;f?  

a. 
1

7
  b. 

2

7
  c. 

3

7
   d. 0 

 Solution: 
 A non - leap year has 52 weeks and 1 day. 

So, it is impossible that a non - leap year will have 53 Sundays and 53 
Mondays. 

   P (53 Sundays and 53 Mondays) = 0 
    
 

STATISTICS & PROBABILITY ANSWER KEY  
 

 

1 2 3 4 5 6 7 8 9 10 

A B B D D B B C C B 

11 12 13 14 15 16 17 18 19 20 

D D C B D C C C D C 

21 22 23 24 25 26 27 28 29 30 

C C C B A A D C B D 
 


